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TYPE_99

geometry
ci297198.867793518, 2780055.97576743)

c(308352.331093995, 2774651.08663511)
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Q1 : TRASKRLULKKRA EHR? L —RBARFEREE = X —REEAH B [= FRPIRIREX

X~B <n = 10000,p = ) — Poisson(A = 8)

I>_‘l‘ TigE K 10000
=== > HEH
H [ ;l 85 & P,he = P(X > 20) = pbinom(20,n,p,F) =~ ppois(20,lambda,F)
10000 A 205R¥&@ R
2. ERPF=ZKRULERERFEHER - W SRR EHREX
W ~B(n = 7,p = one)
Pr =P(W = 3) =pbinom(2,7,p.one,F)
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&% ' i 2. SHE#EE ~ p value
SHHHT ANOVA=aov(rain~city,Rain.data); summary (ANOVA)
Vietheate TP it Df Sum Sq Mean Sq F value Pr(>F)
TP [BQ| TY : b esiduats o oo ammo
! » (BQ (A EANOVA) kruskal.test(rain~city,Rain.data)
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Pollution_Map(0.3)
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* tm_shape(TW, xlim=c(146500,351000), ylim=c(2400000,2850000))
* TW.WGS84 = st transform(TW,4326)
tm_shape(TW.WGS84, xlim=c(120,122), ylim=c(21.5,25.5))
 tm_shape(EPA)+...+tm_shape(TW)+.....
HETEH
« tm_shape()+...+ tm_add_legend("symbol",labels=c("&","{&"),col=c("red", "blue"))
MACHIZig[E
« ggplot() + ... + theme(text=element text(family="122fE-%& hE"))
* tm_shape() + ... +tm_layout(fontfamily = "Heiti TC Light")
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GIS Spatial Processing

Spatial Join

(Clip/Point-in-Polygon)

Intersection
Buffer
Merge

Centroid

Distance

st_buffer(pts,1000)

st_union(st_buffer(pts,1000))

DERsF1d > Bsf22fH FEEE / HRNT S

st _intersects, ...)

sfl[sf2,]

st_join(sfl, sf2, join =

st_intersection(sfl, sf2) : &y /R&E » WRIKRERARsF1RsF2RIE M

st_buffer(sf, dist)
(2) ExE-H|

st union(sf)

summarize(group by(sf, field)) : kKA & B

st _centroid(sf)

st distance(sfl, sf2)

Xst _distance(sfl, sf2) < set units(1,km)

st is within_distance(sfl, sf2, dist, sparse =

TRUE )

(1) FixE-F : ERE AT (sf1)

T: sparse list; F: matrix

— s JJ" Lz
_"}_ Wand rj’ <, sf2
D S 0 L 2 O ek
< — ™ Q:j(ff<fvﬂ\\ 1 128517.49 126907.54 120264.35 1 FALSE FALSE FALSE

s 5 { oy g1 | 2 123956.87 122449.04 116278.79 2 FALSE FALSE FALSE
P - AN ey S 3 29738.99 38177.79 46334.56 3 TRUE TRUE TRUE
e ) (A 4 ) o= 4 243555.73 239797.71 224000.15 4 FALSE FALSE FALSE
a8 L o 5 TRUE TRUE TRUE

st_union(TP)
summarize(group_by(TP,TOWN_ID))

: g 5 47813.73 55654.62 63906.59

st_distance(sfl,sf2)

st_is_within_distance(sfl,sf2,10"5)
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droplevels ®BERF%(factor)BEFHIRERAEIRMRE](1evel)
xtabs iR - FERtable()
xtabs (sum~group)
i.e. xtabs(~TOWN+STORE); xtabs(POP~COUNTY)
%iﬁéégﬁlﬁﬁcount
left_join 1left join(x, y, by = c("name.x" = "name.y"))
1. HERMENERE—% (BinlEiR)
2. ECEHIMREAEARE > Fby&E#

> X > left _join(x,y,by=c('id'="id2"'))
id name id name name2 left_join:
1 1 FH 1 1 FH A . x HIRE
2 2 < 2 2 < B o HTEx-NAHE
3 3 7] 3 3 N <NA> . Hiffy-HX
>y > full join(x,y,by=c('id'='id2"))
id2 name2 id name name2 full join:
1 1 A 1 1 FH A « x, y #HRE
2 2 B 2 2 Vd B - REHP—E-NAE
3 4 D 3 3 A <NA>
4 4 <NA> D



apply . apply (X, MARGIN, FUN)

MARGIN:
1 by row

2 by column

 lapply(LIST,FUN)

>M

[,1]1 [,2] [,3] [,4]

[1,] 1 3
[2,] 2 4
> apply(M,1,sum)
[1] 16 20

> apply(M,2,sum)
[1] 3 7 11 15

 mapply(FUN,argl,arg2,....)

input format output format

list
data.frame
array
list
data.frame

parameters

apply

lapply

mapply

vector
matrix

unlist()
list » vector

vector
matrix

5
6

7
8
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@A dABFR(RE)

EH - PTRRE 5 xEEERE0(km) %S » LA0.5(km) &R - EFId(km)
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